SuMPO v Third party verified

. E P D Environmental Product Declaration
. .

JAPAN

Confromance with

VERIFIED 1SO14025 ‘ 1SO14040 ‘ 1SO14044

SUMPOREEIESAIL OS5 L (SUMPO EPD)

OA®EEH#toy DFRERASM

NIPPON SODA CO.,LTD.

NISSO HPC'L (E%nnm\\huﬁm /CELNY' (ﬁnnumhﬂﬁ“)
NISSO HPC-L (pharmaceutical excipient) /CELNY-L (food excipient)

EHRES ®RIEE1&H NS 1R EEH hEAR EPDY1 TS
SuMPO-EPD-2512-34-1 2025/12/15 2026/1/14 2030/12/14 BH—SIREPD
KEMINEBEBMRARE
BHNOAERIRE EPDIIREEARI oo Th. EMELE AN RILLBBIENHYET,
N EPDORFIRE SUEIEEZRHRTBCEUTE#RERLTLESY,
1SO21930:2007#E31

https://ecoleaf-label.jp/epd/search


https://ecoleaf-label.jp/epd/search

SuMPO

FH%FES) SUMPO-EPD-2512-34-1

Environmental Product Declaration for NISSO HPC-L (pharmaceutical excipient) /CELNY-L (food excipient) .' E p,AQ
VERIFIED
@ E K 1FR
>T0J5LER
J0I3LATR SUMPORIZEINILTOI I L
TOISLARV-5-  —MRHEEEAY AT IR EHERE
P 34 BT UHE X A 1-14-8 KANDA SQUARE GATE 4F
YAk https://ecoleaf-label.jp

> GPI-PCRI5%

GPI SuMPO EPD Japan General Program Instructions v.2.1.1
PCRE& R TIO-AFEH (PR [525R]
PCRERES PA-161600-CP-02
PCRFBEH 2025/6 /10
LEI-XXVEER (FTE) #HE BF (ARKIIID)
PCRE &HHARR 2030/6 /9
PCR¥EITHE — Mg EEAY AT T IR E HE RS
> IREEE R
1ISO14025 % U'SO21930:2007 [CHE ST 88 = H iR AL
- : O A m AR
T g REACES _ REBECES EPDY AT Ll
= HIRIE B =HIRIE (C&BEE =F IR

WA EHEE FFE) HFEE— (%RAEH-IVIR)

> BEYLIRIE
B 1SO14040:2006 B 1SO14044:2006 [0 1SO14067:2018
YR B 1SO14025:2006 B 1S021930:2007 ] 1S021930:2017
[0 EN15804+A2 [0 EN50693:2019 [ ISO/IEC63366:2025

EPDICEEHEDIEHR R U'EPDICEEHDOIERICAIT 3 BIEERICOVTOEILFEPDISEEENEEET, EPDORAICRIT RIS, EREE(CDOWN
Tl3. EPDEVBEEEZTERLEDELESRL,

EPDOLLE(L, R B MOMEEE T+ CEEBLE L TEEINEINERS BV, BRERICBIZEMOIMIV1I) 2hEE R L. BRERCH
WCEISEORZRERELEYTUAEERL TV LENHYET, EPDOLLERDIRICE BINERGEAEENMERTEPCRESEBL TS,

EPDA'E E BAIICEINTWBIHA, RIS EMH Y TITON BTN RV EE Ao
REFETMEREHETEINEHETT, BEOASSICIVRENOZEE—HCRERITONZEDOTEHYEEA, T, EELRERRE

NOEGFHBFZEORESPREE (REZEALTVWSNE) | UAZIHE REPARICENETOREEREINE) EEETRIEOTHHYEE

Ao
MEFHERWVCEEDS S F1IY1VNEZEFMERKRUIIITVIIINAIRY MU EEFR. BREYREEFR, HNHT70-(CHATIRERR
[FFEOHEBICOVTOERTIIHYEE Ao

OEPDHVGEXRE TR
FEEL -HEL HAEERA ST MERFRFERGPEERRE RS
EFRr HRBFRERNOA2-7-2
MWahEEL e-mail 7 FL X : ke.hayashi@nissogr.com

LCARERIEE (FiE) BAEEHRARML

B ARIVU TNV N - LTESRANIARFE RS, SIS HE - =M

FREEE mosmssramLng,


mailto:ke.hayashi@nissogr.com
https://ecoleaf-label.jp

FH%FES) SUMPO-EPD-2512-34-1 SuMPO

Environmental Product Declaration for NISSO HPC-L (pharmaceutical excipient) /CELNY-L (food excipient)

| ESRTA T
B AR NISSO HPC-L (EEZESRAMA]) /CELNY-L (B&FMA)
SO NISSO HPC-L (EEZE@AF) /CELNY-L (B&FMNHE)
L nkkgE EERANNE 'R
O HEEE kg E R
HEOAE EELHEBEEROFES - -BENAOEAFHE
AT I BE -
FH 55

MAFEYL ERRE EXn-RREROIEA-FBHAOESHF

FHERELRR RF L E MR

et b (BEHR) BAEERARLTAKRIS

JAPAN

..E PD

VERIFIED

o BN EHEB L KRS EEAECARTEIENTES, =8, Rt EC A
2 ABE _
EHTEN,
fMEIIIH k https://www.nissoexcipients.com/jp/

OMERUMEICEATIERESR
HEBRER
vROF> 70N O-R
7K
BRELENEDEEIERY

AVEMBRER
BoN-IVF8

NVES

O EYHRIKRERE
HE
BRsLUOEYBRRERAE
RUTINLZSEAMOENERKREEE

EE (%)
99.0
0.9
0.1

EIE (%)
80.0
20.0

B8 E (kg-C)
0.44

EBE (kg-CO:; eq)
1.61


https://www.nissoexcipients.com/jp/

H$RES) SUMPO-EPD-2512-34-1 SuMPO

EPD

Environmental Product Declaration for NISSO HPC-L (pharmaceutical excipient) /CELNY-L (food excipient) .. JAPAN

VERIFIED

OLCA FOEIFR
>EPDY1 1B
BEIM1T B E-EF O J-T8& O xRS
EPDY(S  YALI(T B BEYAH O #EHEYAb
FRA R B 5EE O MNEF9E O KFxE O LBRfE
IR A EE B 7o0-1\)b
BHER/EBETIMEED
EPDICHIT 2R FMEDETER
EHH /BT 2ED
EPDICHT2. EEBRD -
L FIRICEaT 2508

BEHELMEPDD A -

> LCARSEE R
=i=p--L(v] 1kg
EEHEMNEIOER
(EEADRERH)
HATO- (BEEEMERETLY
[CHEREZE)
JIATLIER B Cradle-to Gate (0 Cradle-to-Gate with options | [J Cradle-to-Grave
LCAYT RIIT MIiLCA for EPD
LCIT-NR-Z AIST-IDEA Ver.3.1.0
BHECETIV SIRZE) © IPCCHESRFHMAIREZ(PCC,20134) . ZOMBDFZEME  LIME2
ZOONYI IS5 RT-5 —
GPICREDZRT - @mBE#ELET-YERAWVTEE 1T, Bb. T-9 mE ML
ZRF-IRE ISO 14044 : 2006 CGRIBVNRIAYE=FATHAINTELAXY b~ BERFBEERUIEL) O
4236 [CHESTITOT,
—RT-INENSR BAEERASHEZAKRIS
—RT-HFUNERAR  2023F481H~2024%3A31H

EYBRRZOIYIELN W 0/0770-F O -1/+1770-F
B B EPEOFENEENIVIA O Z0ft

BHEKIC e -
B93E®R BAH -

FITTT -
> B EXTREZRE

135 FHER B %
> 1 S ERLRLE T ER R 7 (4 ETUREE =
B EIEER i T BB ahimmE S ok B FiR A R B r
A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 c2 C3 Cc4 D
B I i3] I R gE"
o o * m = &
M| 5 % HE M Ktk =3 s =3 )
BN ®H AN B OfEF B B B ® M ) /B R g
o o ¥ o I B & # H ©B | - I )| .
AW ) 25 . = W B A f
= | s = . B
= wm|- |- - - -|-[-[-- -]

W EEENR - EEERA



SuMPO

Z$HRFES) SUMPO-EPD-2512-34-1 ‘ E p D

Environmental Product Declaration for NISSO HPC-L (pharmaceutical excipient) /CELNY-L (food excipient) JAPAN

VERIFIED

>7r0y-v3y

REETR E—HENEHEINZH, 7OT-YIVIETOTVEN,

>hyhA7J

DY bATULEIEB R,

>YATLIER

PCRICEDEREZITol, GPIBLUPCRICTERATOTALEDONLIER (FOTR) EVATLBERALLTNS, B
MY AT LESRE100FTH 2.

>9FUA
TVa1-) St AR

A2TIHAD
Hix, IFUARERLTONEN,
A3KEE



SuMPO

Z§3FES) SUMPO-EPD-2512-34-1

Environmental Product Declaration for NISSO HPC-L (pharmaceutical excipient) /CELNY-L (food excipient)

JAPAN

VERIFIED

..E PD

>BHEFUYY

WHRETZETDIMIVAVIVERBEICEWT, 2018 E (LB T2 B AFHORKEHNDT-Y2AVTEEETO,

>317917)070-K
AL R RIERE A2 TIHAOEHE A3 EE
; ] i
a

i iM o
Wk i
L ) ¥ T )
"L 0— 2R o | x| 1 > b0 — R FE AL/ B % !
‘ 1 \
* S g Lo
2 on fﬁ :

Ead I

& Pra

0 ; )

1 \

ag Ll

FHI% 7 1, B | ;5: :
P mEM > WE - EEbHOE | ‘

»| EEEENS (B HAW - 258
o AW [ WETezoEx
_ EEARADTAER

* B &K MK 1£2%R] oS LVERICHRS 70ERE 70 —Rh oEHE



Z4%ES) SUMPO-EPD-2512-34-1 SuMPO

Environmental Product Declaration for NISSO HPC-L (pharmaceutical excipient) /CELNY-L (food excipient) .. E p]Ag
VERIFIED
OETEHER
>J1TY 1) VR EFHER
AMBEHMHTEE A2TBn0mE  ASEE - - D EHRIH
SIEZE kg-CO.eq | 344E+00 1.56E-01 | 2.19E+00 - = -
AV EREIE kg-CFC-11eq, 7.43E-07 @ 1.88E-09 @ 4.54E-07 - - -
EREL kg-PO.*-eq 1.16E-03 | 4.73E-10 = 6.93E-07 - - -
73| kg-SO.eq = 4.20E-03 = 2.62E-04 | 2.21E-03 - - -

KA EAFIIINER | kg-CoHeeq | 1.32E-04 | 2.02E-06 | 5.77E-05 - - -

>J1TY1IIWAIRY )53 TR EEER

AMEMRIREE fTsAo%z A3LEE = = D EHRI
BARREIR kg ' 2.11E+00 8.33E-06 | 9.47E-02 - - -
EBERREER kg = 3.72E-02 = 1.03E-04 2.86E-02 - - -
BAETEIRILE- MJ | 3.12E+00 | 4.95E-02 @ 1.15E+01 - - -
FEEERRIRIF- MJ | 7.29E+01  2.17E+00  3.48E+01 - - -
WIKDIHE m®  9.76E-01 | 3.85E-06 @ 8.70E-03 - - -
> RV EIFIR
AMBEMETE ATHA0RE  A3LRE = — D EFRH
BEEZEY kg - - - - - -
mERERY kg = 9.50E-03 = 9.44E-07 1.36E-03 - - -
KIMTHAINICB T2 BEEY2ERLTVET,
> HHJ0-(CEAT 3RIEER
ABEMEITE ARTEARE A3LRE = - D EFEHN
B AR e Ek kg - - - - - -
UYL ER# R kg - - - - - -
IR)F-EUNAM R kg - - - - - -
BEEMNSOBEEIRILY -

(IRNF-EHE Z60%)

EROORD | mmwmaonsg | kg - - - - - -
(THRLF-EUR :

F<60%) EURIRILF - MJ - - - - _ _
FREYOIET
(FEEMODBIICLYRE
IREIAANSOIRIF -
[E14R)

ERMETAHE | kg - - - - - -

EURTHLE- | M) - - - - - -



SuMPO

BB ES) SUMPO-EPD-2512-34-1

Environmental Product Declaration for NISSO HPC-L (pharmaceutical excipient) /CELNY-L (food excipient)

‘ JAPAN

VERIFIED

> LCAEERRICEAT 354

- EADT=6. Bk - iE TERBE LUERIZE EXN RN
EHEICBWT, YFUAIFERLTWAL,
PN O-ZARBROERFEF ERICEST —RT-Y%&EALE,

@ E MBI R
> LCAICEEL AR LVE IR IR IE IR

-1SO14001 523 EX1S L5 (C TELE

>HEMEICRKT 515
HEYEA CAS No. BRSNS EEXERF OSSR

BHBLURBERNSOERYE DK
OHFEDESR

@ E ik

+1SO14025:2006 Environmental labels and declarations — Type Ill environmental declarations — Principles and
procedures

+1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
+1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines

+1SO 21930:2007 Sustainability in building construction — Environmental declaration of building products



